

Labor

Cost

Contract Materials

Cost

Labor

Work Order Cost Estimate

Service

Cost

Tools

Cost

Data Source: Work

Adjusted Total Cost for AdHoc

\$99,978.03

Adhoc

Materials

\$0.00

Amt

Order Data Updated Daily

Work Order 1002911858

WO Number: 1002911858

Customer Name:

Work Zone: **SMALLJOB**

Estimate Est Labor Contractor Request Ver Hours Hours

Service Address:

Description: Development

Est Date: Feb 14, 2025 2:25:55 PM

Contract Overhead Salvage Deferred

Design Version: 16

Tools

Cost

URDCREW Crew Type:

Amt

78682	16	252.1	\$0.00 \$14,894.08	\$0.00 \$24,539.19	\$0.00	\$0.00 \$3,889.96	\$0.00 \$14,056	5.09 \$0.00	\$42,598.71
Work Fu	nction	C	Priginal CU Name		Description	1	Quantity	Unit Cost	Linecost
I		1CN15	E\UP\EC	CABLE UG #1SOL W/CN	I 15KV		2,211	3.08219358	6,814.73
		25P-13	-240/120 E \ UX \ TR	PAD XFMR, 25KVA, 1 PI	H, 13200/762	20, 240/120V, NO TAPS	1	7,655.6	7,655.6
		2CDTP	L E \ UP \ CD	CNDT-2 INCH PVC			2,010	2.02416418	4,068.57
		2SWEE	EPE\UP\CD	SWEEP, 2 IN, 90 DEG P	VC		12	21.28416667	255.41
		37.5P-2	20-240/120 E \ UX \ TR	PAD XFMR, 37.5KVA, 1	PH, 20780/1	2000, 240/120V, NO TA	PS 3	8,983.6	26,950.8
		3CDTP	L E \ UV \ CD	CNDT-3 INCH PVC			1,230	3.57460163	4,396.76
		3SWEE	EPE\UV\CD	SWEEP, 3 IN, 90 DEG P	VC		16	36.524375	584.39
		4/0TXL	IG E \ UV \ SW	CABLE #4/0 UG TRIPLE	X		1,353	2.95223208	3,994.37
		50P-13	-240/120 E \ UX \ TR	PAD XFMR, 50KVA, 1 PI	H, 13200/762	20, 240/120V, NO TAPS	1	9,286.6	9,286.6
		BC15 E	\ UP \ PC	BUSH CAP 15KV			2	38.815	77.63
		BOXPA	AD E \ UX \ UE	BOX PAD - 1PH PADMO	UNT TRANS	SF	5	1,454.15	7,270.75
		BUS40	E\UV\SC	SEC BUS - 4 POS, 1-SC	24	54.11375	1,298.73		
		CBLPU	ISH E \ UP \ EC	CABLE PUSH 4 HRS/CA	1	419.5	419.5		
		EB15 E	\ UP \ PC	ELBW 15KV FOR #1 ALC	CN		12	139.06583333	1,668.79
		GNDU	G E \ UP \ GR	GROUND-AT PAD OR V	AULT		2	88.24	176.48
		GNDU	G E \ UX \ GR	GROUND-AT PAD OR V	AULT		5	88.24	441.2
		HH E \	UL \ HH	HANDHOLE 13 IN X 24 I	N		8	271.1325	2,169.06
		JE1 E \	UP \ EN	JNCTN ENCL 1PH 15KV	4POS		2	1,219.34	2,438.68
		JE1-GN	NDSLV E \ UP \ UE	GROUND SLV 1PH JE1	& JE1-25KV		2	460.09	920.18
		Electric	Admin and Acct	Electric Admin and Acct					-485.3
		Electric	Labor Overhead	Electric Labor Overhead					10,410.96
		Electric	Material Overhead	Electric Material Overhea	d				7,141.96
		Electric	Overhead	Electric Overhead					2,022.18
Overall -	- Total								99,978.03

Direct

Materials

Cost

	Develop	ment Cost Per	r Lot	
To	otal Cost	Lots	Co	st/Lot
\$	99,978	30	\$	3,333

Page 1 of 3 Run Date: Feb 14, 2025



Data Source: Work

Order Data Updated Daily

Work Order 1002911858

WO Number: 1002911858

Customer Name:

Work Zone: **SMALLJOB**

Service Address:

Description: Est Date: Design Version: Crew Type: Builder's Charge

Feb 13, 2025 1:54:01 PM

URDCREW

78682 17 2.76 \$0.00 \$163.06 \$0.00 \$169.60 \$0.00 \$0.00 \$42.58 \$0.00 \$140.62 \$0.00 \$0.00 \$0.00 \$5	Estimate Request	Est Ver	Labor Hours	Contractor Hours	Labor Cost	Contract Labor	Materials Cost	Direct Materials Cost	Service Cost	Tools Cost	Contract Tools Cost	Overhead Amt	Salvage	Deferred Amt	Adhoc Materials	Adjusted Total Cost for AdHoc
17 2.70 \$0.00 \$100.00 \$100.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	78682	17	2.76	\$0.00	\$163.06	\$0.00	\$169.60	\$0.00	\$0.00	\$42.58	\$0.00	\$140.62	\$0.00	\$0.00	\$0.00	\$515.86

Work Function	Original CU Name	Description	Quantity	Unit Cost	Linecost
1	2/0TXUG E \ UV \ SW	CABLE 2/0 UG TRIPLEX	55	2.41090909	132.6
	2CDTPL E \ UV \ CD	CNDT-2 INCH PVC	50	2.0216	101.08
	DD24HOE E \ UV \ DT	BACKHOE 24 IN DIRT DITCH	50	2.8312	141.56
	Electric Admin and Acct	Electric Admin and Acct			-2.25
	Electric Labor Overhead	Electric Labor Overhead			113.98
	Electric Material Overhead	Electric Material Overhead			19.51
	Electric Overhead	Electric Overhead			9.38
Overall - Total					515.86



Data Source: Work

Order Data Updated Daily

Work Order 1002911858

WO Number: 1002911858

Customer Name:

Work Zone: **SMALLJOB**

Description: **OH Primary Fixed**

Est Date: Feb 13, 2025 1:58:45 PM

Design Version:

18 OHCREW

Estimate Request	Est Ver	Labor Hours	Contractor Hours	Labor Cost	Contract Labor	Materials Cost	Direct Materials Cost	Service Cost	Tools Cost	Contract Tools Cost	Overhead Amt	Salvage	Deferred Amt	Adhoc Materials	Adjusted Total Cost for AdHoc
78682	18	23.87	\$0.00	\$1,390.91	\$0.00	\$2,358.01	\$0.00	\$0.00	\$464.03	\$0.00	\$1,323.46	\$0.00	\$0.00	\$0.00	\$5,536.4
Work Fund	ction	C	Original CU Na	ame		Descri	ption		Quantity	Unit Cost	Linecost				
I		1X E \ C	DH \ GA		ANCHOR	PLATE 1 II	N X 10 FT		1	513.6	513.6				
		45PCL3	BE\OH\PL		POLE CE	R 45 FT DII	RT CLS 3		1	1,961.49	1,961.49				
		7/16DG	KIT-LIGHT E	\ OH \ GA	DOWN G	UY KIT 7/16	LIGHT CON	STR	2	530.605	1,061.21				
		CDEA4	AC E \ OH \ C	CL	CLAMP D	E. AUTO F	OR #4 ACSF	2	4	38.3425	153.37				
					INSULAT	OR DEADE	ND 15/25KV	PE	2	21.215	42.43				
	GND E \ OH \ GR GROUND ROD						1	101.52	101.52						
		GND-TI	HEFT DET E	\OH\GR	GROUNE	THEFT DE	TERRENT C	OVER	1	112.37	112.37				
		NDE E	\ OH \ IN		DEADEN	D NEUT (8h	(V)		2	13.765	27.53				
		NPDEH	IW E \ OH \ H	IW	HDWRE	D.E. NEUT	1 WAY ON P	OLE	2	26.135	52.27				
		PDEHW	V E \ OH \ HW	V	HDWR D	E - 1 WAY (ON POLE		2	39.785	79.57				
		PIVT15	-25 E \ OH \ I	N	INSULAT	OR-PIN VIS	SE TOP 15-25	iKV	1	43.28	43.28				
	PIVT15-25 E\OH\IN						1	64.31	64.31						
	Electric Admin and Acct Electric Admin and Acct								-25.25						
	Electric Labor Overhead Electric Labor Overhead								972.23						
	Electric Material Overhead Electric Material Overhead								271.17						
Electric Overhead Electric Overhead								105.31							
Overall - Total								5,536.41							



Data Source: Work

Order Data Updated Daily

Work Order 1002911858

WO Number: 1002911858

Customer Name:

Work Zone: **SMALLJOB**

Service Address:

Description: Est Date: Design Version: Crew Type:

OH Primary Variable Feb 13, 2025 1:59:37 PM

OHCREW

Del vice A	nuui C	33.			Glew Type. GrionEw										
Estimate Request	Est Ver	Labor Hours	Contractor Hours	Labor Cost	Contract Labor Cost Direct Service Materials Cost Cost			Contract Tools Cost	Overhead Amt	Salvage	Deferred Amt	Adhoc Materials	Adjusted Total Cost for AdHoc		
78682	19	17.53	\$0.00	\$1,021.46	\$0.00	\$1,603.32	\$0.00	\$0.0	0 \$340.79	\$0.00	\$954.69	\$0.00	\$0.00	\$0.00	\$3,920.26
Work Fund	Nork Function Original CU Name		ame	Description				Quantity	Unit Cost	Linecost					
1	1RH E \ OH \ SR			SEC RACK, 1 SPOOL - HEAVY DUTY				1	137.92	137.92					
	45PCL3 E \ OH \ PL			POLE CDR 45 FT DIRT CLS 3				1	1,961.49	1,961.49					
	4ACSR E \ OH \ EC			CNDTR 4 ACSR				770	0.6991039	538.31					
		GND E	\OH\GR		GROUND	ROD			1	101.52	101.52				

	45PCL3 E \ OH \ PL	POLE CDR 45 FT DIRT CLS 3	1	1,961.49	1,961.49	
	4ACSR E \ OH \ EC	CNDTR 4 ACSR	770	0.6991039	538.31	
	GND E \ OH \ GR	GROUND ROD	1	101.52	101.52	
	GND-THEFT DET E \ OH \ GR	GROUND THEFT DETERRENT COVER	1	112.37	112.37	
	PIVT15-25 E \ OH \ IN	INSULATOR-PIN VISE TOP 15-25KV	1	43.28	43.28	
	PP E \ OH \ PI	POLE TOP PIN SINGLE 15-35KV	1	64.31	64.31	
	ST4 E \ OH \ CL	PRFRMD TIE WIRE-SPOOL #4 ACSR	1	6.37	6.37	
	Electric Admin and Acct	Electric Admin and Acct			-17.79	
	Electric Labor Overhead	Electric Labor Overhead			713.98	
	Electric Material Overhead	Electric Material Overhead			184.38	
	Electric Overhead	Electric Overhead			74.12	
Overall - Total					3,920.26	

	Overhead I	Primary Variable Cost							
To	tal Cost	Length (ft)	С	ost/ft					
\$	3,920	350	\$	11.20					



Data Source: Work

Order Data Updated Daily

Work Order 1002911858

WO Number: 1002911858

Customer Name:

Work Zone: **SMALLJOB**

Service Address:

Description: Est Date: Design Version: Crew Type: OH Service

Feb 13, 2025 2:00:47 PM

OHCREW

		Labor Cost			Direct Materials Cost	Service Cost	Tools Cost	Contract Tools Cos		Salvage	Deferred Amt	Adhoc Materials	Adjusted Total Cost for AdHoc		
78682	78682 20 1.86 \$0.00 \$108		\$108.38	\$0.00	\$70.98	\$0.00	\$0.00	\$36.15	\$0.0	90 \$88.00	\$0.00	\$0.00	\$0.00	\$303.51	
Work Fund	Work Function Original CU Name		е	Description		Quantity	Unit Co	st Li	necost						
I 2TX E \ OH \ SW		(CNDTR #2 TRIPLEX		66	3.265303	303 2	215.51							

Work Function	Original CU Name	Description	Quantity	Unit Cost	Linecost
1	2TX E \ OH \ SW	CNDTR #2 TRIPLEX	66	3.26530303	215.51
	Electric Admin and Acct	Electric Admin and Acct			-1.3
	Electric Labor Overhead	Electric Labor Overhead			75.76
	Electric Material Overhead	Electric Material Overhead			8.16
	Electric Overhead	Electric Overhead			5.38
Overall - Total					303.51

Overl	nead !	Service Variab	le Co	st
Total Cost		Length (ft)	Cost	/ft
\$	304	60	\$	5.06



Data Source: Work

Order Data Updated Daily

Work Order 1002911858

WO Num Custome Work Zor Service A	r Nan ne:	ne:	100291185 SMALLJOI							Descrip Est Date Design Crew Ty	e: Versior	n: 2		nsformer 2025 8:13 W	:41 AM	
Estimate Request	Est Ver	Labor Hours	Contractor Hours	Labor Cost	Contract Labor	Materials Cost	Direct Materials Cost	Service Cost	Tools Cost	Contra Tools Cost	s A	rhead	Salvage	Deferred Amt	Adhoc Materials	Adjusted Total Cost for AdHoc
78682	21	101.4	\$0.00	\$5,908.56	\$0.00	\$74.10	\$0.00	\$0.00	\$1,971.24	\$0	.00 \$4,	289.72	\$0.00	\$20,291.72	\$0.00	\$32,535.34
Work Fund	ction	0	riginal CU Na	me			Description	on			Quantity	Unit C	Cost Lir	necost		
I		100-13-	-120/240 E \ (OH \ TR	OH XFMR,	100KVA, 1	PH, 7620/13	200, 120/2	240V, NO 1	TAPS	1	7,840).57 7,	840.57		
		15-13-1	20/240 E \ O	H\TR	OH XFMR,	15KVA, 1 P	H, 7620/132	00, 120/2	40V, NO TA	APS	1	3,812	2.65 3,	812.65		
		25-13-1	20/240 E \ O	H\TR	OH XFMR,	25KVA, 1 P	H, 7620/132	00, 120/2	40V, NO TA	APS	1	4,455	5.65 4,	455.65		
		37.5-13	3-120/240 E \	OH \ TR	OH XFMR,	37.5KVA, 1	PH, 7620/13	3200, 120	/240V, NO	TAPS	1	3,040).49 3,	040.49		
		50-13-1	20/240 E\O	H\TR	OH XFMR,	50KVA, 1 P	H, 7620/132	00, 120/2	40V, NO TA	APS	1	3,322	2.82 3,	322.82		
		75-13-1	20/240 E\O	H\TR	OH XFMR,	75KVA, 1PI	H, 7620/1320	00, 120/24	0120V, NC	TAPS	1	3,375	5.65 3,	375.65		
		Electric	Admin and A	cct	Electric Adr	min and Acc	t						-	155.08		
		Electric	Labor Overh	ead	Electric Lab	or Overhead	d						4,	130.08		
		Electric	Material Ove	erhead	Electric Ma	terial Overhe	ead						2,	066.32		
		Electric	Overhead		Electric Ove	erhead								646.19		
Overall -	Total												32,	535.34		



Data Source: Work

Order Data Updated Daily

Work Order 1002911858

WO Number: 1002911858

Customer Name:

Work Zone: **SMALLJOB**

Electric Admin and Acct

Electric Labor Overhead

Electric Overhead

Overall - Total

Electric Admin and Acct

Electric Labor Overhead

Electric Overhead

Description: Est Date:

OH Transformer Install Feb 13, 2025 2:02:02 PM

22 Design Version:

-6.36

256.17

65.46

26.46

1,399.68

Service A	ddre	SS:								Crew	Турє	e:	OHCRE	W		
Estimate Request	Est Ver	Labor Hours	Contractor Hours	Labor Cost	Contract Labor	Materials Cost	Direct Materials Cost	Service Cost	Too			Overhead Amt	Salvage	Deferred Amt	Adhoc Materials	Adjusted Total Cost for AdHoc
78682	22	6.29	\$0.00	\$366.50	\$0.00	\$569.16	\$0.00	\$0.00	\$122	.29 \$	0.00	\$341.73	\$0.00	\$0.00	\$0.00	\$1,399.68
Work Fund	ction		jinal CU Nam DB E \ OH \ L		18 IN FIBER	Description		Qua	ntity 1	Unit Cost		ecost 35.24				
		3/0CUW	/PE\OH\R	:W	CNDTR, 3/0	COPPER	WP		23	4.5447826	1	04.53				
		3R E \ C)H\SR	;	SPOOL R	ACK			1	198.03	3 1	98.03				
		CO100 I	E \ OH \ XD	-	CUTOUT PO	DLY 15,25,3	5KV 100A		1	214.58	3 2	14.58				
		GNDT E	\OH\GR	- 0	GROUND-OH TRNSFORMER			1	31.11		31.11					
		LA10T E	(OH \ XD	-	TFMR LIGH	TNING ARF	RESTER 10KV		1	226.26	3 2	26.26				
		TMHW I	E \ OH \ HW		TRANSF MO	DUNTING H	RDWR 3-25KV	/A	1	48.2	2	48.2				

OH Transformer	ι	Init Cost	% Used	9	% Cost		Overhe	ad T	ransforme	r To	tal
15-13-120/240	\$	3,812.65	32.82%	\$:	1,251.31		nstall	Tra	nsformer		Total
25-13-120/240	\$	4,455.65	30.52%	\$:	1,359.86	\$	1,400	\$	3,909	\$	5,308
37-13-120/240	\$	3,040.49	13.63%	\$	414.42						
50-20-120/240	\$	3,322.82	15.26%	\$	507.06						
75-13-120/240	\$	3,375.65	5.24%	\$	176.88						
100-13-120/240	\$	7,840.57	2.54%	\$	199.15						
Total				\$	3,909						



Data Source: Work

Order Data Updated Daily

Work Order 1002911858

WO Number: 1002911858

Customer Name: Work Zone:

SMALLJOB

Description: **UG Primary Fixed** Feb 13, 2025 2:03:24 PM 23 Est Date:

Design Version:

Service A			SMALLJUE	,						Crew Typ		URDCR	REW		
Estimate Request	Est Ver	Labor Hours	Contractor Hours	Labor Cost	Contract Labor	Materials Cost	Direct Materials Cost	Service Cost	Tools Cost	Contract Tools Cost	Overhead Amt	Salvage	Deferred Amt	Adhoc Materials	Adjusted Total Cost for AdHoc
78682	23	6.96	\$0.00	\$411.20	\$0.00	\$1,558.40	\$0.00	\$0.00	\$107.39	\$0.00	\$506.11	\$0.00	\$0.00	\$0.00	\$2,583.10
Work Fund	ction	Orig	jinal CU Nam	ie		Description	l	Quantity	Unit Co	ost Linecos	t				
1 2	2SWEE	P E \ UP \ C[) S	SWEEP, 2 IN, 90 DEG PVC			2	21.	35 42.	7					
	BC15 E \ UP \ EN			SUSH CAP	15KV		2	38.8	55 77.7	1					
		EB15 E	\UX\PC	Е	LBW 15KV	FOR #1 AL	.CN	2	139.	07 278.1	4				
		JE1 E \ I	UP \ EN	J	NCTN ENC	L 1PH 15K	V 4POS	1	1,218.	35 1,218.3	5				
		JE1-GN	DSLV E \ UP	\UE G	ROUND S	LV 1PH JE1	& JE1-25KV	1	460.	09 460.0	9				
		Electric	Admin and A	cct E	lectric Adm	nin and Acct				-12.4	6				
		Electric	Labor Overhe	ead E	lectric Lab	or Overhead				287.4	3				
		Electric	Material Ove	rhead E	lectric Mate	erial Overhe	ad			179.2	2				
		Electric	Overhead	E	lectric Ove	rhead				51.9	2				
Overall - 1	Γotal									2,583.	1				



Data Source: Work

Order Data Updated Daily

Work Order 1002911858

WO Number: 1002911858

Customer Name:

Work Zone: **SMALLJOB**

Service Address:

Description: Est Date: Design Version: Crew Type:

UG Primary Variable Feb 14, 2025 8:24:02 AM

URDCREW

Estimate Request	Est Ver	Labor Hours	Contractor Hours	Labor Cost	Contract Labor	Materials Cost	Direct Materials Cost	Service Cost	Tools Cost	Contract Tools Cost	Overhead Amt	Salvage	Deferred Amt	Adhoc Materials	Adjusted Total Cost for AdHoc
78682	24	46.88	\$0.00	\$2,769.67	\$0.00	\$2,559.98	\$0.00	\$0.00	\$723.37	\$0.00	\$2,345.40	\$0.00	\$0.00	\$0.00	\$8,398.42
Work Fun	ction	Oriç	ginal CU Nan	ne		Description		Quant	ity Uni	t Cost Lin	ecost				

Work Function	Original CU Name	Description	Quantity	Unit Cost	Linecost
I	1CN15 E \ UP \ EC	CABLE UG #1SOL W/CN 15KV	682	3.08158358	2,101.64
	2CDTPL E \ UP \ CD	CNDT-2 INCH PVC	620	2.02516129	1,255.6
	CBLPUSH E \ UP \ EC	CABLE PUSH 4 HRS/CABLE/CONDUIT	1	419.5	419.5
	DD36HOE E \ UP \ DT	BACKHOE 36 IN DIRT DITCH	620	3.67141935	2,276.28
	Electric Admin and Acct	Electric Admin and Acct			-36.32
	Electric Labor Overhead	Electric Labor Overhead			1,936
	Electric Material Overhead	Electric Material Overhead			294.4
	Electric Overhead	Electric Overhead			151.32
Overall - Total					8,398.42

	Undergrou	ınd Primary Va	iriab	le
To	otal Cost	Length (ft)	С	ost/ft
\$	8,398	620	\$	13.55

Run Date: Feb 14, 2025



Data Source: Work

Order
Data Updated Daily

Work Order 1002911858

WO Number: 1002911858

Customer Name:

Description: Est Date:

UG Secondary Fixed Feb 13, 2025 2:05:26 PM

Customer Work Zon Service A	e:	S	MALLJOE	3						Desig Crew	jn Ve	ersion: e:	25 URDCF		15:26 PM	
Estimate Request	Est Ver	Labor Hours	Contractor Hours	Labor Cost	Contract Labor	Materials Cost	Direct Materials Cost	Service Cost	Tools Cost	Contr Tools (Overhead Amt	Salvage	Deferred Amt	Adhoc Materials	Adjusted Total Cost for AdHoc
78682	25	2.79	\$0.00	\$164.82	\$0.00	\$282.53	\$0.00	\$0.00	\$43.04	\$	0.00	\$157.03	\$0.00	\$0.00	\$0.00	\$647.42
Work Func	tion	Orig	inal CU Nam	e		Description	ı	Quantity	Unit	Cost	Line	cost				
1		2SWEEF	PE\UV\CD) S	WEEP, 2 IN	N, 90 DEG F	PVC	1		21.34	2	1.34				
		3SWEEF	PE\UV\CD) S	WEEP, 3 IN	N, 90 DEG F	PVC	1		36.61	36	6.61				
		BUS40 E	E\UV\SC	S	EC BUS - 4	1 POS, 1-SC	CREW CONN	3	53.95	666667	161	1.87				
		HH E \ U	IL \ HH	H	IANDHOLE	13 IN X 24	IN	1		270.57	270	0.57				
		Electric /	Admin and A	cct E	lectric Adm	in and Acct					-2	2.95				
		Electric I	_abor Overhe	ead E	lectric Labo	or Overhead					115	5.21				
		Electric I	Material Ove	head E	lectric Mate	erial Overhe	ad		32.49		2.49					
		Electric (Overhead	E	lectric Over	rhead					12	2.28				
Overall - T	Overall - Total								647	7.42						



Data Source: Work

Order
Data Updated Daily

Work Order 1002911858

WO Number: 1002911858

Customer Name:

Work Zone: ${\sf SMALLJOB}$

Electric Overhead

Electric Overhead

Service Address:

Overall - Total

Description: Est Date:

12.06

637.4

UG Secondary Variable Feb 13, 2025 2:07:45 PM

Design Version:

Crew Type: URDCREW

Estimate Request	Est Ver	Labor Hours	Contractor Hours	Labor Cost	Contract Labor	Materials Cost	Dire Mate Co	rials	Service Cost	Tools Cost	Contract Tools Cost	Overhead Amt	Salvage	Deferred Amt	Adhoc Materials	Adjusted Total Cost for AdHoc
78682	26	2.76	\$0.00	\$163.06	\$0.00	\$276.80		\$0.00	\$0.00	\$42.58	\$0.00	\$154.96	\$0.00	\$0.00	\$0.00	\$637.40
Work Fund	ction	Orig	inal CU Nam	е	De	scription		Quan	tity Un	it Cost	Linecost					
1		3CDTPL	E\UV\CD	(CNDT-3 INC	H PVC			50	3.5716	178.58					
		4/0TXU	GE\UV\SV	V C	CABLE #4/0	UG TRIPLE	X		55 2.95	090909	162.3					
		DD24H0	DE E \ UV \ D	T E	BACKHOE 2	4 IN DIRT D	ITCH	50		2.8312	141.56					
		Electric	Admin and A	cct E	Electric Adm	in and Acct					-2.91					
		Electric	Labor Overhe	ead E	Electric Labo	or Overhead					113.98					
		Electric	Material Over	rhead E	Electric Mate	erial Overhea	ıd				31.83					

Underground Secondary Variable										
	Total Cost	Length (ft)	С	ost/ft						
\$	637	50	\$	12.75						

Run Date: Feb 14, 2025



Data Source: Work

Order Data Updated Daily

Work Order 1002911858

WO Number: 1002911858

Customer Name:

Work Zone: **SMALLJOB**

Service Address:

Description: Est Date: Design Version: Crew Type: UG Service

Feb 13, 2025 2:08:35 PM

URDCREW

Estimate Request	Est Ver	Labor Hours	Contractor Hours	Labor Cost	Contract Labor	Materials Cost	Direct Materials Cost	Service Cost	Tools Cost	Contract Tools Cost	Overhead Amt	Salvage	Deferred Amt	Adhoc Materials	Adjusted Total Cost for AdHoc
78682	27	4.13	\$0.00	\$244.00	\$0.00	\$253.54	\$0.00	\$0.00	\$63.73	\$0.00	\$210.37	\$0.00	\$0.00	\$0.00	\$771.64

Work Function	Original CU Name	Description	Quantity	Unit Cost	Linecost
1	2/0TXUG E \ UV \ SW	CABLE 2/0 UG TRIPLEX	82	2.40158537	196.93
	2CDTPL E \ UV \ CD	CNDT-2 INCH PVC	75	2.02653333	151.99
	DD24HOE E \ UV \ DT	BACKHOE 24 IN DIRT DITCH	75	2.83133333	212.35
	Electric Admin and Acct	Electric Admin and Acct			-3.38
	Electric Labor Overhead	Electric Labor Overhead			170.56
	Electric Material Overhead	Electric Material Overhead			29.16
	Electric Overhead	Electric Overhead			14.03
Overall - Total					771.64

Underground	d Service Varia	ble (Cost
Total	Length (ft)	С	ost/ft
\$ 772	75	\$	10.29



Data Source: Work

Order Data Updated Daily

Work Order 1002911858

WO Number: 1002911858

Description: Est Date:

UG Transformer Feb 13, 2025 2:09:14 PM

Custome Work Zor Service A	ne:	;	SMALLJOE	В					[Est Date Design V Crew Ty	ersion:			2025 2:09 EW	:14 PM	
Estimate Request	Est Ver	Labor Hours	Contractor Hours	Labor Cost	Contract Labor	Materials Cost	Direct Materials Cost	Service Cost	Tools Cost	Contrac Tools Cost	t Overh An		rage	Deferred Amt	Adhoc Materials	Adjusted Total Cost for AdHoc
78682	28	101.4	\$0.00	\$5,990.70	\$0.00	\$38.28	\$0.00	\$0.00	\$1,564.62	\$0.0	0 \$4,33	\$6.19	0.00	\$40,531.43	\$0.00	\$52,461.22
Work Fun	ction	C	Original CU Na	ame			Descript	ion			Quantity	Unit Cos	t L	inecost		
I		100P-13-240/120 E \ UX \ TR			PAD XFMR, 100KVA, 1 PH, 13200/7620, 240/120V, NO						1	4,476.6		4,476.6		
		15P-13	-240/120-T E	\UX\TR	PAD XFMR, 15KVA, 1 PH, 13200/7620, 240/120V, TAPS						1	7,436.6	;	7,436.6		
		25P-13	-240/120 E \ I	UX \ TR	PAD XFMR, 25KVA, 1 PH, 13200/7620, 240/120V, NO TAF						1	7,655.6	5	7,655.6		
		37.5P-1	13-240/120 E	\ UX \ TR	PAD XFMR, 37.5KVA, 1 PH, 13200/7620, 240/120V, N						1	1 8,598.6		8,598.6		
		50P-13	-240/120 E \ I	UX \ TR	PAD XFM	R, 50KVA,	PH, 13200/	7620, 240)/120V, NO	TAPS	1	1 9,286.6		9,286.6		
		75P-13	-240/120 E \ I	UX \ TR	PAD XFM	R, 75KVA, 1	PH, 13200/	7620, 240	, 240/120V, NO TAPS 1 5,881.6 5,881.6							
		Electric	Admin and A	Acct	Electric Admin and Acct									-260.01		
		Electric	Labor Overh	ead	Electric Labor Overhead									4,187.5		
		Electric	Material Ove	erhead	Electric Material Overhead								4,114.			
Electric Overhead					Electric Overhead									1,083.4		
Overall -	Total												52	2,461.22		



Estimate Est Labor Contractor Labor Contract Materials

Work Order Cost Estimate

Direct

Data Source: Work

Adjusted Total

Order Data Updated Daily

Work Order 1002911858

WO Number: 1002911858

Customer Name:

Work Zone: ${\sf SMALLJOB}$

Service Address:

Overall - Total

Description: Est Date:

2,215.42

UG Transformer Install Feb 13, 2025 2:12:22 PM

Design Version:

Crew Type: URDCREW

Contract Overhead Salvage Deferred Adhoc

Request	Ver	Hours	Hours	Cost	Labor	Cost	Materials Cost	Cost	Cost	Tool	s Cost	Amt		Amt	Materials	Cost for AdHoc
78682	29	12.19	\$0.00	\$720.18	\$0.00	\$693.56	\$0.00	\$0.00	\$188.09		\$0.00	\$613.59	\$0.00	\$0.00	\$0.00	\$2,215.42
Work Fund	ction	Original CU Name			Description			Quan	tity Unit	Cost	Linecos	st				
I		2SWEEF	E\UP\C) S	SWEEP, 2 IN		1 2	21.34	21.3	4						
		BC15 E \ UX \ PC BOXPAD E \ UX \ UE			BUSH CAP		1	38.1	38.	1						
					BOX PAD - 1		1 1,45	54.15	1,454.1	5						
		GNDUG	E\UX\GR	(GROUND-AT PAD OR VAULT Electric Admin and Acct				1 8	38.24	88.2	4				
		Electric A	Admin and A	cct E							-9.6	1				
		Electric Labor Overhead Electric Material Overhead			Electric Labo				503.	4						
					Electric Material Overhead						79.7	6				
		Electric (Overhead	Е	Electric Over				40.0	4						

Service Tools

UG Transformer	Un	it Cost	% Used	% (Cost	Underground Transformer Total							
15P-13-120/240	\$	7,436.60	25.22%	\$	1,875.51	Insta	all	Transfo	ormer	Tot	al		
25P-13-120/240	\$	7,655.60	33.51%	\$	2,565.39	\$	2,215	\$	7,787	\$	10,003		
37P-20-120/240	\$	8,598.60	9.74%	\$	837.50								
50P-13-120/240	\$	9,286.60	20.28%	\$	1,883.32								
75P-13-120/240	\$	5,881.60	8.68%	\$	510.52								
100P-13-120/240	\$	4,476.60	2.57%	\$	115.05								
Total		·		\$	7,787.30								



Data Source: Work

Order Data Updated Daily

Work Order 1002911858

1002911858 WO Number:

Customer Name:

Work Zone: Service Address: ${\sf SMALLJOB}$

Electric Labor Overhead

Electric Overhead

Electric Labor Overhead

Electric Overhead

Electric Material Overhead Electric Material Overhead

Overall - Total

Description: Est Date:

469.21

91.07

42.18

2,279.48

Secondary Pole Fixed Cost Feb 13, 2025 2:13:42 PM

Design Version:

30 OHCREW

Service Address:										Crew Ty	pe:	OHCKE	:VV		
Estimate Request	Est Ver	Labor Hours	Contractor Hours	Labor Cost	Contract Labor	Materials Cost	Direct Materials Cost	Service Cost	Tools Cost	Contract Tools Cos	Overhead t Amt	Salvage	Deferred Amt	Adhoc Materials	Adjusted Total Cost for AdHoc
78682	30	11.52	\$0.00	\$671.27	\$0.00	\$791.92	\$0.00	\$0.00	\$223.95	\$0.0	0 \$592.34	\$0.00	\$0.00	\$0.00	\$2,279.48
Work Fund	ork Function Original CU Name			ne	Description				ity Unit	Cost Line	cost				
1		1RH E \ OH \ SR			SEC RACK, 1 SPOOL - HEAVY DUTY				1 13	7.92 13	7.92				
		35PCL4 E \ OH \ PL			POLE CDR 35 FT DIRT CLS 4				1 1,54	9.22 1,549	9.22				
		Electric	Admin and A	cct F	Flectric Admin and Acct					-10	12				

D 4 -f 2	D. D. D. L. C. L. 44 2005